§ BERZZRHY S

For S" of radius r(t) » the metric is given g = r2§ » where 5 18 the metric on the unit

sphere ° The sectional curvature are all

2
The metric of unit 3-sphere * g =ds? = dy? +sin? w(d6? +sin? @d4?)

And of 3-sphere with radius r=r(t) * g =ds* = r’dy* +r’sin® y(d@* +sin’ 6d ¢°)

g=r’g
For a n-sphere * Ric(g)=(n-1)g > so the Ricci flow equation becomes a ODE e

ag - 5 27 - drz
B~ 2Ric(g) = 2 (r’g) =-2(n-1)g = — =—-2(n—1
P ic(g) at(r 9)=-2("-Dg = (n-1)

r’ =R,>—2(n-1t

) =\R* - 200Dt - as t_>2(E0—1)

Where n=3
Similarly  for hyperbolic n-space H"(n>1) - the Ricci flow reduces to the ODE

2
d gt ) _2(n—1) which has the solution r(t) =RZ +2(n—1t

So the solution expands out to infinity °

» the sphere shrinks to a point(a singularity) ©




